

## پاسخ سوالات

(۱)

الف) درست

ب) نادرست

ج) نادرست

د) درست

(۲)

الف)  $b$ ب)  $\frac{-5}{4}$ 

ج) ۲

$$\sqrt[3]{2b^2 \times 4b} = \sqrt[3]{8b^3} = 2 \quad \text{د)}$$

(۳)

الف)  $15^{-7}$ 

ب) گزینه ۴ (۰/۰۰۲۳)

ج) گزینه ۲ (۲۷)

د) گزینه ۱ ( $x - y$ )

(۴)

$$\text{الف) } 2^0 = 1 > 2^{-5} = \frac{1}{32} \quad \sqrt{9+16} = 5 = 5$$

$$\text{ب) } 4^{-8} \times 4^6 = 4^{-8+6} = 4^{-2} = \left(\frac{1}{4}\right)^2$$

$$\text{ج) } x^{5-(-2)} \times y^{2-7} \times z^{1-3} = x^7 \times y^{-5} \times z^{-2} = \frac{x^7}{y^5 \times z^2}$$

(۵)

$$\text{الف) } x + (-4) = 10 \quad x = 14 \quad \text{ب) } \frac{x}{-3} = 6 \quad x = -18$$

(۶)

$$\text{الف) } \frac{\left(\frac{2}{3} \times \frac{3}{8}\right)^2}{-\frac{2}{-2-2}} = \frac{\left(\frac{1}{4}\right)^2}{-\frac{2}{-2-2}} = -\left(\frac{1}{4}\right)^2 \times 2^2 = -\left(\frac{1}{4} \times 2\right)^2 = -\left(\frac{1}{2}\right)^2 = -\frac{1}{4}$$

$$\text{ب) } \frac{(3 \times 10)^{-5} \times 25}{6 \cdot 10^{-5}} = \left(\frac{1}{6}\right)^{-5} \times 25 = 32 \times 25 = 800$$

(۷)

$$\text{الف) } 1) 1/396 \times 10^6 \quad 2) 3/4 \times 10^{-7}$$

$$\text{ب) } 1) 6180000 \quad 2) 0.052$$

(۸)

$$\text{الف) } \sqrt[3]{\frac{18 \times 60}{5}} = \sqrt[3]{18 \times 12} = \sqrt[3]{216} = 6$$

$$\text{ب) } \sqrt[3]{27 \times 2} - 2\sqrt{9 \times 2} + 3\sqrt{36 \times 2} - \sqrt[3]{64 \times 2} = 3\sqrt[3]{2} - 6\sqrt{2} + 18\sqrt{2} - 4\sqrt[3]{2} = 12\sqrt{2} - \sqrt[3]{2}$$

(۹)

$$\sqrt{25 \times 2} + \sqrt[3]{8 \times 3} + \sqrt[3]{27 \times 3} = 5\sqrt{2} + 2\sqrt[3]{3} + 3\sqrt[3]{3} = 5\sqrt{2} + 5\sqrt[3]{3}$$

(۱۰)

$$\text{الف) } \frac{5}{2\sqrt{3}} \times \frac{\sqrt{3}}{\sqrt{3}} = \frac{5\sqrt{3}}{6}$$

$$\text{ب) } \frac{2}{\sqrt[3]{a^2}} \times \frac{\sqrt[3]{a}}{\sqrt[3]{a}} = \frac{2\sqrt[3]{a}}{a}$$

$$\text{ج) } \frac{12}{\sqrt{6}} \times \frac{\sqrt{6}}{\sqrt{6}} = \frac{12\sqrt{6}}{6} = 2\sqrt{6}$$

(۱۱)

$$\sqrt[3]{\frac{12}{27}} \times \sqrt[6]{26} \div \sqrt{-2^3} = \sqrt[3]{2^4} \times 2 \div (-2) = 8 \div (-2) = -4$$